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Time : 3 Hours]

[Max. Marks : 80

Instructions to the candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Attempt any One from (A) and One from (B) in about 150 words each: [16]

A) i)
ii)
B) 1)
ii)

Describe methods of conserving water with reference to C.V.
Raman's 'Water: The Elixir for Life'.

How does A.P.J. Abdul Kalam describe his achievements as a
scientist as an act of God.

Describe Datta's plan of action to repair the damage that had
occurred.

What are the adverse effects of advertising on the mind and life of
the young according to work?

02) Attempt any One from (A) and One from (B) in about 150 words each: [16]

A) i)
ii)
B)
ii)

How does Derozio want to revive the lost cultural heritage of the
country?

Describe Ivan Dmitritch's Worries about his wife's behaviour after
winning the lottery.

Write a Ten line dialogue between a student and a teacher on
'Importance of cleanliness in Life'.

Comment on the significance of the title of the poem 'Money-
Madness'.
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03) Attempt any One from (A) and One from (B) in about 150 words each: [16]

A)

B)

i)  Describe the chief principles and guidelines that have helped Indra
Nooyi to be a successful woman.

i) How does Murthy view India in the context of Globalization?

i)  Why does R.K. Narayan think that the time has come for Bharat
brand of English?

i)  Which evils were spread by socialism in India?

04) Attempt any One from (A) and One from (B) in about 150 words each: [16]

A)

B)

05) A)

B)

i)  Write a character sketch of Gopalam.
i)  Describe Rukesh's devotion towards his father.
i)  Explain the central idea of the poem '"The Soul's Prayer'.

i)  Appreciate the poem 'Stopping by Woods on a Snowy Evening' as
a philosophical poem.

Attempt any one of the following: [8]

i)  Write a letter to your friend inviting him/her to spend Dipawali
Vacation in village.

i)  Write a brief newspaper report of an accident you have seen.

Attempt any one of the following: [8]

i)  Write your resume for the post of General Manager Ashoka Pharma
Pvt. Ltd. Mumbai.

i)  Write an e-mail to the manager, Bank of Maharashtra, Pune Branch,
informing him about non-functioning of ATM in your area.

Q00O
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Total No. of Questions : 4] SEAT No. :

P872 [Total No. of Pages : 7

[5415]-1002
EY. B.Com.
FINANCIAL ACCOUNTING
(2013 Pattern) (Regular)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3)  Use of calculator is allowed.

Q1) A) Fillinthe blanks. (Any five) [5]
i)  The process of distribution of cash on availability of cash is known
as distribution of Cash.
a) Piecemeal b) Lump sum c) Notional

i) In case of sale to a company the profit or loss on sale is ascertained
through

a) Revaluation account
b) ~ Realization account
c) Profit & Loss account

i) Shares and debentures received from company are distributed to
the partners in Ratio.

a) Profit Sharing b) Final claim c) Capital
iv) Accounting Standard 2 stands for

a) Disclosure of accounting policies

b) Revenuerecognition

c) Valuation of Inventory

P.T.O.



Vi)

vii)

The Lessee's right to recoup short working is related to
a) Term of agreement

b) subsequent two years

c) firstthree years

The Hire purchaser charges depreciation on

a) Hire purchase price

b) cash price

c) lower of the two

Under departmental system some expenses cannot be allotted on
the reasonable basis they are debited to

a) Trading Account
b) General Profit & Loss Account
c) Profit & loss Account

B) State whether following statements are True or False (Any five) [5]

i)  The rule in Garner vs. Murray can be applied even if there is only
one solvent partner.

i) Purchase consideration is calculated on the basis of book value of
assets and liabilities taken over.

iil) In conversion business is sold to a company.

iv) AS-1 stands for Contingencies and Events Occurring after Balance
Sheet date.

v)  The minimum rent or Royalty whichever is more, is to be paid to the
landlord.

vi) Interest is charged to General Profit and Loss Account since no
proper basis of allocation is provided.

vii) In case rate of interest is not given, interest is divided equally over
the hire purchase instalment.

C) Write short notes on (Any Two) [14]

i)  AS-1 Disclosure of Accounting Policies.

i)  Difference between Realisation account and Revaluation account.

i) Instalment system.

iv) Maximum Loss Method.
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02) A, B and C were in partnership sharing profit and losses in the ratio 4:3:2. they
decided to dissolve the business on 31 December 2017 on which date their
Balance Sheet was as under.

Balance Sheet

Liabilities Amount Assets Amount
Capital Cash 10,000
A 64,000 Debtors 73,000
B 45,000 Stock 65,000
C 42,000 1,51,000 Plant and Machinery 36,000
General Reserve 18,000 Land and Building 36,000
Mrs. B's loan 14,000
Creditors 30,000
Bills Payable 7,000

2,20,000 2,20,000
The cash received in instalments [14]
I3t Instalment 52,000
2" instalment 69,000
3" instalment 64,000

The creditors were settled at a discount of Rs. 2,000.
It was agreed that the cash should be distributed as and when realised.

Dissolution expenses were originally provided for an estimated amount of
Rs. 3,000. The actual expenses amounted to Rs. 4,000.

Prepare -
i)  Statement showing Surplus capital

i)  Statement showing Distribution of cash

OR
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A and B are partners sharing profits and losses in the ratio 3:1 and C and D
were partners sharing profits and losses in the ratio 1:1

Following were their Balance Sheets as on 31/12/2015

Liabilities A&B | C&D Assets A&B |[C&D
Creditors 20,000 | 30,000 | Plant & Machinery | 40,000 | 54,000
Bills Payable 8,000 | 16,000 | Furniture 24,000 | 18,000
Mrs. B's Loan | 20,000 -- | Stock 40,000 | 48,000
Mrs. D's Loan -- | 14,000 | Debtors 38,000 34,000
OutstandingRent | 4,000 3,000 | Fixture 3,200 2,400
Capital Account Cash in hand 6,300 6,600

A 60,000 -

B 40,000 -

C - | 50,000

D 50,000

1,52,000 |1,63,000 1,52,000 |1,63,000
The two firms amalgamated on the following terms: [14]

i)  Mr. B agreed to pay Mrs. B's Loan and Mr.D agreed to pay Mrs.
D's Loan.

i)  Outstanding Rent was paid in full by respective firms.

i) Creditors and Bills payable of both the firms were taken by the new
firm at a discount at 5%.

iv) Plant and Machinery is subject to 5% depreciation of both the firms.

v)  Furniture of C & D was sold in the market for Rs. 16,000. Furniture
of A & B was not taken over by the new firm.

vi) Fixtures were not taken over by the new firm.

vii) Stock of A & B was valued at Rs. 44,200 and stock of C & D was
valued at Rs. 42,000.

You are required to prepare Revaluation Account, Partner's Capital
Account in the books of both the firms and Balance Sheet of new
firm.
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03) A) Anil, Arvind and Amar were in partnership sharing profits and losses in
the ratio 2:2:1. Their Balance Sheet as on 31% of March 2016 is as under

when they decided to convert their firm into Limited company

Balance Sheet as on 31% of March 2016

Liabilities Amount| Assets Amount
Capital Anil 40,000 | Cash at Bank 12,400
Arvind 40,000 | Debtors 38,000

Amar 20,000 | Stock 40,000

Bills Payable 6,400 | Plant and Machinery| 34,000
Sundry Creditors 30,000 | Fixtures 4,000
Furniture 8,000

1,36,400 1,36,400

It was decided to sell the business to Sunshine Ltd. Which agreed to allot
12,000 fully paid shares @ Rs. 10 each in full satisfaction of purchase
consideration The Company took over all assets and liabilities except Bills
payable and Cash. Shares were distributed in profit sharing ratio.

You are required to show

i)  Calculation of Purchase Consideration

i) Realization Account

8]

B) Bihar Mining Co. Ltd. took a mine on a lease from Sathe Ltd. at a Royalty
of Rs. 3 per ton. The minimum rent was fixed at Rs.40,000 p.a. Short
working could be recouped out of the Royalties within first three years

The production during the first 4 years was as follows:

only.

Year Output in tones
1 10,000
2 12,000
3 14,000
4 20,000

Pass the necessary journal entries in the books of Bihar Mining Co. Ltd.
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04) Mr. A purchase Machine on 1% April 2013 on hire purchase system. The cash
price of machine was Rs. 40,000. He paid Rs. 10,000 on signing of agreement
and balance in three annual instalments of Rs. 10,000 Interest is charged at
12% p.a. on balance. Mr. A closes his books of accounts on 31 March every
year by charging depreciation at 15% p.a. on reducing balance method. [20]

You are require to prepare
i)  Working notes
i)  Hire Vendor Account
i) Machinery Account
OR

From the following Trial balance as on 31-3-2016 of Bharati Departmental
Store Bihar prepare Departmental trading Account, Profit and Loss Account
for the year ended 31% March 2016 and a Balance Sheet as on that date. [20]

Particulars Debit Credit
Stock as on 1% January
Dept. A 17,000
Dept. B 14,500
Purchases
Dept. A 35,000
Dept. B 30,000
Sales
Dept. A 60,800
Dept. B 51,250
Wages
Dept. A 8,200
Dept. B 2,700
Rent, Rates and Taxes 9,390
Sundry expenses 3,600
Salaries 3,000
Lighting and heating 2,100
Discount allowed 2,241
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Discount received 650
Advertisement 3,680
Carriage Inward 2,340
Furniture and Fitting 3,000
Machinery 21,000
Sundry debtors 6,060
Capital account 47,660
Sundry creditors 18,000
Cash in Hand 10,049
Drawings 4,500
1,78,360 1,78,360

The following information is available:

i)  Department A transferred goods to Department B for Rs. 420 and
Department B transferred goods to Department A Rs. 500.

i) The items like Rent, Rates and Taxes, Sundry expenses, Lighting and
Heating, Salaries and Carriage Inward to be apportioned % to Department

A and % to Department B.
i) Advertising to be apportioned equally.

iv) Discount Allowed and Discount Received are apportioned on the basis
of Departmental Sales and Purchases (excluding transfers).

v) Depreciation @ 10% p.a. on Furniture and Machinery is to be charged
¥, to dept. Aand ), to Dept.B

vi) Stock as on 31.03.2016
Department A 33,000 and Department B 24,000.
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F.Y. B.Com.
BUSINESS ECONOMICS (Micro)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3) Draw neat diagram wherever necessary.

Q1) What is meant by Business Economics? Explain the nature and scope of
Business Economics. [16]

02) Define the Indifference curve. Explain the characteristics of Indifference
curve. [16]
OR

Explain the Law of variable proporations.

03) Answer in brief: [16]
a) Explain the concepts of Total Revenue, Average Revenue and Marginal
Revenue.
b) Explain the features of perfect Competition.
OR

a) Explain the features of Oligopoly.
b) Explain the Dynamic Theory of Profit.

04) Explain the short run equilibrium of the firm under the monopoly. [16]

035) Write short notes. [16]
a) Price Discrimination.
b) Features of monopolistic competition
c) Economic Rent
d) Backward sloping supply curve of Labour.

QOO0
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[5415]-1004
F.Y. B.Com.

BUSINESS MATHEMATICS AND STATISTICS
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

3)  Use of logarithmic tables and calculator is allowed.

4) Both the sections should be written in the same answer-book.

SECTION-1
Q1) A) Answer the following multiple choice questions by selecting correct option
from the given questions. (Any four) [4]
i) H.C.F. of 54, 288 and 360 is
a) 18 b) 36
c) 54 d) 108
i) The square root of 0.001849 is
a) 043 b) 0.043
c) ~0.033 d) 4.39
1 3
5—+Zx—=
)y
1 1
6— 8—
a) g b) p
1
c) 78 d) None of these

iv) The fourth proportional to the numbers 60,48,30 is
a) 36 b) 24
c) 48 d) None of these

PTO.



Vi)

The population of a town is increased from 50,000 to 52,000, then
increase in percentage is

a) 2% b) 3%
¢) 4% d) 5%

The ratio of two numbers is 4:7, the smaller number is 24, then the
bigger number is

a) 45 b) 40
c) 42 d) 35
B) Answer the following multiple choice questions by selecting correct option
from the given questions: (any two) [4]
i)  The sum of the ages of father, mother and daughter is 85 and their
ages are in the ratio 8:7:2, then their ages are
a) 45,35,15 b) 40,35,10
c) 45,30,15 d) 40,30,10
i)  Abhijit and Amruta invested X 45,000 and X 63,000 in the business.
If out of annual profit of 34,200, Abhijit receives ¥14,250 and the
Amruta's share in the profit is X
a) ~ 19,950 b) 20,950
c) 18,950 d) 21,950
ii)  97% of students are present in a college and 39 students are absent,

[5415]-1004

then the total number of students in the college is

a) 900
b) 1,300
¢) 1,400
d) 800



02) Attempt any two questions of the following: [8]

a)  What principal will amount to X 5,700 at 4% p.a. in 3% years?

b) Find the amount at the end of 5 years of a sum of X 2,000 at 6% p.a.
payable halfyearly?

c) Two companies have shares of 13% at 122 and 17% at X150 respectively.
In which of the shares, Sunil should invest the money?

03) Attempt any four questions of the following;: [16]

a)  What are the objectives of classification of data?

b) State the types of non-probability sampling methods.

c) Compute the mean weight of a group of MBA students in an Institute
from the following data.
Weight (kgs.) |44-48 | 49-53 | 54-58 | 59-63 | 64-68 | 69-73
No.of students| 03 04 05 07 09 08

d) From the following data, compute median of the average deposit balance
of savings in the branch during a month.
Average
Deposit |0-100 |[-100-200{200-300|300-400(400-500{500-600]600-700
Balance
No. of 26 68 145 242 188 65 16
Deposits

e) Draw Histogram for the following data.
Height
(incm.) 125-130{130-135| 135-140[ 140-145|145-150{150-155{155-160
No.of 1 2 3 5 4 3 2
Students

f)  The following is the distribution of the ages of new employees joined at

a factory.

Age (in yrs.) 20-29 [ 30-39 [ 40-49 | 50-59 [ 60-69

No. of Employees 07 21 04 02 01

[5415]-1004 3



From the above, answer the following:

i)  State the type of classification

ii)  What are the class boundaries of the class 50-59?
i) What is the class mark of the class 40-49?

iv) Find the class width of the class 30-39?

SECTION - 11

04) Attempt any three questions of the following;: [12]
a) Mr. Sharma buys a cooler for ¥4,500. For how much should he sell so
that there is a gain of 8%7?
b) Mr. Raju receives 4% commission on the sale up to ¥1,00,000 and 5%
commission on the sales over ¥1,00,000. Find his total commission on
the sales of 3,50,000.
c) The cost price of a cell phone is ¥4,500. For how much should it be
marked so as to earn 25% profit after allowing10% trade discount?
d) Solve the following L.P.P. by graphical method.
Maximize: Z = 5x + 4y
Subject to,
6x +4y <24
x+2y<6
x>20,y>0

05) Attempt any three questions of the following;: [12]

a) Distinguish between trade discount and cash discount.

b) By selling two TV sets for 19,550 each a trader gained 15% on one and
lost 15% on the other. What is his percentage of gain or loss on the total
transaction?

c) A firm produces two types of products P and Q through two processes
such as Foundry Process and Machine Process. The number of man-
hours required for each product and on each of the processes and
availability of man-hours are given below.

Product Foundry Process Machine Process
Product-P 10 Hours 5 Hours
Product-Q 6 Hours 4 Hours
Availability 1,000 Hours 600 Hours

The expected profit from each unit of the product is:
Product-P = ¥ 50 and Product-Q = X 40.
Formulate the problem as L.P.P. to maximize the profit.

[5415]-1004 4



d) Following are the wages of 8§ workers expressed in rupees:
82,96, 52,75,70, 65, 50, 80
Find the range and also it's co-efficient.

06) Attempt any four questions of the following;: [16]
a)  What are the uses of correlation?
b) Calculate the standard deviation from the following data.
Length (in cms.): 77, 73,75, 70, 72, 76, 75, 72, 74, 76.

c) Two managers are asked to rank a group of employees on the basis of
their work performance. The rankings as given by the managers are as

follows:
Employees | A B |C |D|E|F|G|H]| 1]
Rank by
Manager-I |10 | 2 [ 1 |4 |3 | 6| 58| 7|9
Rank by
Manager-II | 9 | 4 [ 2 |3 | 1| 5S4 6| 8| 7|10

Compute the Spearman's Rank Correlation Co-efficient.
d) Compute Fisher's Price Index Number from the following data

Year-2015 Year-2016
Commodities | Price Quantity | Price Quantity
A -+ 3 6 2
B 5 - 6 4
C 7 2 9 2
D 2 3 1 5

e) The following details are available in respect of two firms A and B.

Particulars Firm'A’ Firm 'B'
i)  Number of employees 100 200
i)  Average wages per month 3240 X170

iii) Standard deviation of the
Wage per month 06 08

Find:

1)  Which firm pays larger amount of monthly wages?

2)  Which firm shows greater variability in the distribution of wages?
f)  What is Index Number? State the types of Index Numbers.

[5415]-1004 5



Q7) Attempt any one question of the following:

8]

a) Compute Karl Pearson's Coefficient of correlation between ages of
husband and wife from the following data.

Age of husband (yrs.)

21 122123 |24

25 126 | 27

Age of wife (yrs.)

16 [ 15 [ 17 | 18

19 [20 |21

b) i)  You are given below the following information about advertising
expenses and sales made during a month.

Advertising Exp. Sales
Particulars (X Lakhs) (X Lakhs)
Mean 10 90
Standard 3 12
Deviation

Correlation Co-efficient between the two is 0.8

Calculate: 1) The regression equation x on y

2) The likely sales when advertising expenses are 15
lakhs.

ii)) Explain the Regression Equations.

[5415]-1004
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[5415]-1005
F.Y. B.Com.
COMPUTER CONCEPTS AND APPLICATIONS

Computer Fundamental
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Both sections should be written in same answer books.

SECTION -1

Q1) Attempt any 4 of the following: [4 X2 =8]
a) What is computer virus?
b) Define operating system.
c) What are the features of MS-Word?
d) Explain LAN.
e) Define E-Commerce.

f)  What is Desktop computer?

02) Attempt any 4 of the following: [4 X 4 =16]
a) Explain types of computers.
b)  What are the functions of Operating System?
c) What is the use of Header and Footer in MS-Word?
d) Explain Wide Area Network with advantages & disadvantages.
e)  Write short note on Indexed File.

f)  What is role of E-commerce in day to day life?

PTO.




03) Attempt any 4 of the following;:

a)
b)
c)
d)
e)
f)

Define computer. Explain characteristics of computer.

Write short note on functions of Control Panel.
How to add clip-art in slides of MS-Power point?
Write short note on Hub.

Explain use of computer in Accounting.

Explain the term
i)  Calculator
i) Notepad

SECTION - 11

04) Attempt any 4 of the following;:

a)
b)
c)
d)
e)
)

Define Web Browser. Give example.
What is Digital certificate?

What are the attributes of <Img> tag?
Define static web page.

Define page type.

What do you mean by Cyber Law?

05) Attempt any 4 of the following;:

a)
b)

c)

d)
e)
f)

What are the Benefits of Internet?

Explain Financial EDI.

Explain the term

i)  Digital cash

i)  Smart card.

Write steps of create Hyper - Links in HTML.
Explain Web Design.

What are Internet Security? Explain it.

06) Attempt any 4 of the following:

a)
b)
c)
d)
e)
)

Explain structure of HTML.

Define Domain Name. Explain it.

Write note on World Wide Web (WWW).
Explain EFT. (Electronic Fund Transfer.)

[4 x 4 = 16]
[4x2=§]
[4 x 4 = 16]
[4 x 4 = 16]

What are the technology involved in EDI. (Electronic Data Interchange)?

What are the Ethical Issues of Internet Security?

Q00O
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[5415]-1006
F.Y. B.Com.
OFFICE MANAGEMENT

Organisational Skills Development
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What is ' Office Layout? Explain the objectives & principles of Office
Layout. [16]

02) What is 'Office Organisation'? Explain in detail the types of Office
Organisation. [16]
OR
Explain in detail the duties & Responsibilities of Office Manager.

03) a) Describe the importance of Courier Service. [8]
b) State the advantages Web Page. [8]
OR

a) Explain the Objectives & Types of Office records.
b) Explain the process of Digitalisation of Record.

04) Explain in detail the Barriers to effective communication. [16]

05) Write short notes. (any two) [16]
a) Modern methods of Public Relations.
b) Role of Public Relation Officer in Modern Office.
c) Office Automation.
d) Modern Appliances used in Offices.

Q00O
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Organisational Skills Development
(2013 Pattern)

(WSt FUTwR)

gz : 3 | [ Tgor 7797 : 80
gEqr :~ 1) §F g9 TISE0 AEavad g,

2) STdiESIeT 3k FvIe gt T .
3) @FYIAIS! g AT TITAAET TgT.

gv71)

7972)

7973)

gy74)

g975)

HEATE [T SRS TgUTS i ? I Tl SRESITH 3g6r8 o acdl T

. [16]

‘TR THeA RIS ™ ? hEiAd Tge-d TehR Al T8 . [16]
e

HEATAA HAEATART! Theisd U1 TS TR T8 H.

)  FHUIR VA Hged fawe . 8]

) A9 U TS T [8]
e

A)  HECHN AHCTET 3G MU THR T A
d)  HUAET WY STehIeRuTT= TfshaT TUE &,

TS HIVTEGATAIA TS TIEa TS &l [16]

fem fotar. (wiordt ) [16]
)  TAEUSREAT SYHE Tl

q)  SNYHH AT AU SRR iR

F) HETES IR

E) HETCT HIHEHNT AT 0T g Sush.

Q00O
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Total No. of Questions : 5] SEAT No.

P642 [Total No. of Pages : 2

[5415]-1007
F.Y. B.Com. (Regular)
BANKING AND FINANCE

Fundamental of Banking
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instruction to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) State the meaning of Bank. Explain the evolution of Banking in India. ~ [16]

02) Explain the primary and secondary functions of Bank. [16]
OR
Explain the types of individual and institutional account holders.

03) a) Explain the characteristics of Bill of exchange. [8]
b) Explain the types of endorsement. [8]
OR

a) Explain the balance sheet of a commercial bank.
b) Explain the types of electronic fund transfer.

04) Explain the need and importance of technology in Banking. [16]

05) Write short notes. (any two) [16]
a) Types of cheques.
b) Process of multiple credit creation.

c) Types of crossing.
d) Mobile Banking

QOO0
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Total No. of Questions : 5]

P642

[5415]-1007
EF.Y. B.Com. (Regular)
d% g™ e fagTEet
qeh STAEET! Herde
(2013 ded)
(WSt BUTaR)
gz 3 ar] [ Tzor 797 : 80
geAr :— 1) @d 997 QA0 avad .
2) ITHIESIT ek TP qUT 0T G,
2)  #FYIATS! G5 AT TITAAHT TgTa.

gg71) ek 31 WM. WRATA ek SATATATE Scehidl T8 . [16]
Fg72) SRl WA SN gEAd wE TE FH [16]
feRen

Faferaes 3T TEATCHE: WIASHTE TehR T .
gg73) 1) forfma weh afvns e WL [8]
d)  USHAT THR T F. 8]
fepan

HA) AU Sehal ATRes T8 &
q) FoGEI MUt FEATAET YRR ¥ .

gy74) o TEEEIAA G TR ST Hged T8 . [16]

gg75) few feran. (iUt ) [16]
)  YATRII TR
F) =gl qatRid SR
®) TGRS ThR
) HIEEA SRt

Q00O



Total No. of Questions : 4] SEAT No.

P643 [Total No. of Pages : 4

[5415]-1008
F.Y. B.Com.
COMMERCIAL GEOGRAPHY
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2) Neat diagrams must be drawn wherever necessary.

3)  Use of map stencils is allowed.

Q1) Answer the following upto 20 words each (Any ten) [20]
i)  Define Commercial Geography.
i)  Whatis Environment?
i) What is Solar Energy?
iv) State any two Primary Economic Activities.
v) State any two names of Trees in Monsoon Forest.
vi) State any two characteristics of Coniferous Forest.
vii) Give the definition of Optimum Population.
viii) Write any two industrial regions in India.
ix) State any two advantages of Road Transportation.
x)  State any two types of Graphs.
xi) What is Tourism.
xil) Define Trade.
xiii) State any two products that are exported by India.

02) Answer the following upto 50 words each. (any two) [10]
i)  Business Approach.
i)  Truck Farming.
iii) Indian Foreign Trade.

iv) Engineering Industries in India.

PTO.



03) Answer the following upto 150 words each. (any two) [20]
i)  Explain the factors of Cultural Environment.
i)  Explain the characteristics of plantation farming.
iii) Give an account of Iron and Steel Industry in India.

iv) Explain the Geographical factors affecting Tourism.

04) Answer the following upto 300 words each. (any two) [30]
i)  Explain the important factors of Physical Environment.
i)  Explain the population characteristics of India.
i) Explain the factors affecting the industrial location.

iv) Compare various modes of Transportation.

Q00O
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Total No. of Questions : 4]

P643
[5415]-1008
F.Y. B.Com.
COMMERCIAL GEOGRAPHY
(2013 Pattern)
(WSt BaiIR)
gz 3 ar] [ Tzor 7797 : 80

gEqr :~ 1) §F g9 GiSlE0 AEavadd g,
2)  SEvEE 79 GaAF HTHET FE.
3) AN RlWed araRoard War A,

gg7l) @rele ggATe Ukt 20 vrsard St forgt. (smuTad <an) [20]
i) ST e s for.
i) UaTERT TEU T ?

ii) TS FEUR HE?

iv) gemsiuft anfofe smadmEi= SIvdE = a1 Jrm.
V) It SRUATAA g JeIE ATl |

vi) gfeoult sruarh g s wmm.

vi) uETH eireREEa sare gt

viil) ST 29 sitenfires foamm=h T o

iX) T ATEgeRle G WIEE T

Xi) UHed TEUN I ?

Xii) SATIRTE ST forat.

Xiil) SRATqA fEta ST RO G Ieareq |,

wa2) el e e 50 e IW . (SR 3) [10]
i) CATAERE T U,
ii) R v (ST /6Eg ved)
iil) wRaTen faee SR
iv) WRATde AfmEiteR Sam.



w73)  wETeie weAEh Tt 150 vsam S o (iR 3e) [20]
i) OTEh{dH UITERUT geh T .
i) weEuTEA Vi AL TAY HAL.
i) HRATH Fg—UreATg SN g forer.
iv) UHeATeR URUTH SRUTR WiMifcTeh geeh €08 .

go7d)  wEeie v gednt 300 veaa SW e (Fivwd 3e) [30]
i)  TeRfdeh /AEfiieh UATERUTR Ueh TI8 .
i) YR SREEA= A Ty .
i) SERTLEATE TATHRIEHIUNER URUTH FUR Teh T .
iv) dTgdeh JehN qorTcaeh forveisn .

Q0OQ
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Total No. of Questions : 4] SEAT No. :

P644 [Total No. of Pages : 4

[5415]-1009
F.Y. B.Com.
DEFENCE BUDGETING, FINANCE AND MANAGEMENT

Defence Organization and Management in India
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All the questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer in 20 words each (any ten) [10%2=20]

i)  Write any two feature of India's five year Defence planning.
i)  Write any two functions of Indian Coast Guard.

ii) Define Intelligence.

iv) State the meaning of integrated Defence.

v)  Write any two functions of Territorial Army.

vi) Write any two functions of Artillery.

vii) Define air-power.

viii) Write any two elements of war potential.

ix) State the meaning of threat perception.

x)  Write any two features of Indian Defence Mechanism.

xi) Write any two functions of C.R.P.F.

xil) Write any two limitations of Infantry

xiii) Write any two functions of communication in military planning.

02) Answer in 50 words each (any two) [2x5=10]
i)  Explainrole of intelligence during war.
i)  Discuss functions of Border Security force.
i) Explain role of merchant ships in national development.
iv) Discuss role of artillery in defence preparedness.

PTO.



03) Answer in 150 words each (any two) [2x10=20]
i)  Write in brief Role of B.S.F. in border security.
i)  Explain various types of Aircrafts in Indian Air-Force.
i) Discuss powers of President in relation to the Armed Forces.
iv) Discuss command structure of Indian Army.

04) Answer in 300 words each (any two) [2x15=30]
i)  Explain in details historical perspectives of Indian armed forces.

i)  Discuss relations betweeen parliament and the armed forces.
i) Explainrole of counter intelligence in national defence.
iv) Describe roles of engineers during war.

Q00O

[5415]-1009 2



Total No. of Questions : 4]

P644

dz: 3 ara]

g i~ 1)

2)

[5415]-1009
F.Y. B.Com.
fer=m T, wEA=R 3t HAsER
WRATA T A0 G 30T sqaeemaA
(2013 Pattern)
(Wt FATR)

[wzor 707 : 80

el gv4 @S0 HEavaes Hlg.
Il 3 7T FINAATA,

gv71)

T972)

20 vTeETd TR oA (SHIVTAE! &gT)

)

iif)

AR TeX&Teh GeIT™ hIUTAg! aiF <l foTgl.
zonIee fetheman s1ed g .

TR TS T §F HE foTar.
AFEEHIGEATS HIUTAE! GIF hIF TG .

vi) “‘geTs T SEREa .
vii) FELITAD RV S Teeh TG H.

x)
X)

xi)

AT HeheuT 312f g .
WA TR0 G RIUTAE! 2 Tured forg.
et Tl e e v g T fora.

Xil) UTIEETEA HIUTETA 3 Tt fotar.
Xiii) TRt FREeTet ek o IO 8w forer.

50 vregTa TR A1 (SRIVTAE gi)

)
if)
iif)

iv)

JEIRTBTAI IEfTEeh FATE YfHeht T8 .
HHRRTEATEA ShiaaTad o<t ol
T faewmardier aeie A Yiter T .

[10x2=20]

[2x5=10]



gy73) 150 v IW 0 (KTAE FH) [2x10=20]
i) e R Saed | geet getre qHish digea favg @
i) YR gaEeaTde fafay fommrea e foseht =t &

i) Y TATEATEA HEHTHIA TP HATUhRR TIE .
V) ORAE T ATl HHFSHTH A [t T .

gy74) 300 vEEE IW A (VTR §H) [2x15=30]

i)  YRATean WY AATEETS Vi Uel- uTyayHt Afoa g .
i) I BTG SV HHE AT Aaeiesa o .

iil) T ERLAUTAA HiSet FrelfeTa-aet YHeht TIE .
V) GETRBA ATTATIhIgATe qRcha JuH .

Q00O
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Total No. of Questions : 5] SEAT No.

P645 [Total No. of Pages : 2

[5415]-1010
F.Y. B.Com. (Regular)
CO-OPERATION
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain the History of Indian Co-operative movement. [16]
02) Explain the meaning, concept and objectives of co-operation. [16]
OR

Critically examine the Gorewdla committe Report 1954

03) a) Explain the types of rural and urban co-operatives. [8]
b) Evaluate the co-operative education and training programme in India.[8]
OR
a)  Write a note on federation of co-operatives in India.
b) Explain the Role of national co-operative development - corporation.

04) Explain in brief the future trends of co-operative movement in India. ~ [16]

05) Write short notes (any two) [16]
a) Objectives of co-operative education.
b) Maharashtra state co-operative federation.
c) District co-operative Board.
d) AllIndia Rural credit survey committee.

Q00
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Total No. of Questions : 5]

P645
[5415]-1010
EF.Y. B.Com. (Regular)
CO-OPERATION
(2013 Pattern)
(W&t FUTwR)
gz 3 ar]

oAr :— 1) @d 997 QIS0 avae .

2) S9diwSIeT 3idk FvATE QUi ur Fffaar.
3) @FYIAIS! g5 AT TITAAFT TgT.

[Tor 701 : 80

Tv71)

g972)

7973)

gy74)

975)

WRATATA UghN Tebacs=al Sagrarel aui &,

TghwrEl 3, TeheUAT STITUT SgEiwel T8 .
e
TRETe | 1954 = feehtenen afterun <.

1) uwdor snfon vt et T T .

q) AT TEehT T9IRT0T ATIUT STSTRT0T ShRIEGhATS! JoawTa hl.
feren

) HRATS TET TRl gen arer ou formr.

9) U HghR fohrE HETHEeTe Wit T .

WRATHA Tl Tdaaiel HITRIA Sedrel Gfefeaiuul T8 &,

effserTd feun forgt. (hivTeadl 99)

H) wgwEd e seEw

q) HEWIY TS FEHN HY

%) foeg gl Hes

g)  IRaet WA UTHIOT YauRast UTgui |iwed.

Q00O
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Total No. of Questions : 5] SEAT No. :

P890

Time : 3 Hours]

[Total No. of Pages : 2

[5415]-1011
F.Y.B.Com.
MANAGERIAL ECONOMICS
(2013 Pattern)

Instructions to the candidates:

Q1) State and explain scope and characteristics of managerial Economics.

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

02) What is capital Budgeting? Explain usefulness of capital Budgeting.

What is cost-Benefit Analysis? Explain steps in cost Benefit Analysis.

03) a)
b)

a)
b)

OR

Explain objectives of Pricing practices.

State usefulness of short Run cost analysis in business.
OR

Explain concept of Average rate of Returns.

Explain determinants of demand.

[Max. Marks : 80

[16]

[16]

8]
8]

8]
8]

04) What is elasticity of demand? Explain the types of elasticity of demand. [16]

05) Write Short Notes : (Any two)

a)
b)
c)
d)

Aquisitions and mergers.
Objectives of firm.
Business trends in India.

Law of variable Proportions.

VVVV

[16]
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Total No. of Questions : 5]

P890
[5415]-1011
F.Y.B.Com.
MANAGERIAL ECONOMICS
(2013 Pattern)
(TS FATR)
gez : 3 ard] [ vzoT 7707 - 80
gaar :— 1) @d gv7 qislao JEayaeds g,
2) ITHIFwSIT & TIHTE QU JOT FNAATA.
3) weulars? gz A< gvTasieT agTE.
gg7]) —HAATATIRIT AT AT ATTUT SIS | & TS . [16]
gy72)  WISTATH ST FEUTS hid ? HISTATSA ST SUFerRTal T8 . [16]

e

T N fveT | &8 ? @9 @ favesuren g e =10

gg73) @) T Teiomn Sedie wE w5,

F) AT TR T TN ST T,

8]
8]

fepen
) WD U R GeheudT WE . [8]
a) anmie i gew @ W [8]
g974) TRl Teiichal U S ? UHTUeAl aeicha™ TR T8 . [16]
gg75)  engerma fem forgr. (wivrend 2) [16]

HA) HureA 3un ferefentor.
) I TR 3.
%) WRATAIA SHTEr e,
T) oAl SHuTn fFEm.

\YAYAYAY%
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Total No. of Questions : 5] SEAT No.

Pe64do6 [Total No. of Pages : 1

[5415]-1012
F.Y. B.Com. (Regular)
ESSENTIALS OF E-COMMERCE
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3)  Give illustrations wherever necessary.

Q1) Define E-Commerce. Explain Concept, features and types of E-Commerce.[16]

02) Whatis EDI? Explain the advantages & limitations of EDI. [16]
OR
Explain development of internet in India. Explain the procedure of registering
internet domain.

03) a) Define Digital Economic. Explain its impact on Trading and Banking.[8]
b) Explain following term [8]
i)  E-distributors.
i)  Encryption
OR
a) Mobile Commerce in India.
b) Distinguish between market place v/s market space.

04) Define E-payment system. Explain requirements of E-payment system in
India. [16]

Q5) Write short notes (any two) [16]
a) Advantages of E - Banking.
b) Online Ticket Booking Procedure of Railway.
c) Social & Ethical issue of E-commerce in India.
d) New policy 'Digital India' and E-commerce.

QOO0



Total No. of Questions : 5] SEAT No.

P647 [Total No. of Pages : 2

[5415]-1013
F.Y. B.Com.
INSURANCE AND TRANSPORT
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What is Insurance? Explain the need of Insurance. [16]

02) What is the mean by Life Insurance? Explain the need of Life Insurance.[16]
OR

Explain the role of Transport in Indian Economy.

03) a) Explain the Socio-Economic importance of Insurance. [8]
b) State the career options in Insurance Business. [8]
OR

a) State various Hazards in logistics.
b) Describe the Functions of General Insurance.

04) Explain the advantages and limitations of various modes of transport.  [16]

05) Write short note on (any two) [16]
a) Various modes of transport.
b) Merits of Air transport

c) Opportunities of Tourism.
d) Role of Tourist Guide.

QOO0



Total No. of Questions : 5]

P647
[5415]-1013
FY. B.Com.
fort & aEaw
(2013 Pattern)
(WS TUTNR)
gz : 3 am]

o :— 1) &F 997 TS0 SHIavas 7.

2) ITAIHSIA 3k TIATR GUF T FIAAA.

[ weor 707 : 80

wv71)

g972)

7973)

797 4)

975)

form ot w7 ot WS T L

SiiaH T gt R ? Sieq ferm=it TRe T L

e
anferen foreramed aTgqehial HEea TIE .

RA) T e - il vz an.

F) fomn SHaEERE swehie Welt |,
feren

) iR nefiet e sreue amm.

F) wEmYRu o @ e w5

ATEEHIAT AT AT s d Haigl €98 .

few fergn. (shiored 3M)

) TG afay TER
) TS Teqehe g
W)  URIeH SHaHEITA deit
T) Tam anigyiRTen it

Q00O
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Total No. of Questions : 5] SEAT No.

P648 [Total No. of Pages : 2

[5415]-1014
F.Y. B.Com.
MARKETING AND SALESMANSHIP

(Fundamentals of Marketing)

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain the types of Markets. [16]

02) What is Market Segmentation? Explain the bases of Market Segmentation.[16]
OR

Explain the various methods of Pricing.

03) a) Explain internal controllable factors of Marketing Environment. [8]
b) Explain the factors considered for product management. [8]
OR

a) Explain the importance of supply chain management.
b) Explain the features of Rural Marketing.

04) Explain the various Advertising medias. [16]

Q5) Write short notes (any two) [16]
a) Marketing Mix for services.
b) Importance of Rural Marketing Mix.
c) Product Life Cycle.
d) Marketing Mix.

QOO0

PTO.



Total No. of Questions : 5]

P648

gz 3 ar]

[5415]-1014
FY. B.Com.
MARKETING AND SALESMANSHIP
(Fundamentals of Marketing)
(2013 Pattern)
(WSt FUTwR)

e :— 1) &F 997 TS0 HETvaE .

2) ITHIHSIT ek T9ATA QUT U7 AT,
3) @qylard ge sl gTatAe ggTe,

[TZ71 777 : 80

gv71)

g972)

7973)

gy74)

g975)

ATRUST TR T .

TRUS fIWTTeRIuT 10 & ? STRUs FRWTiieum= SR s &,
feren
fera atfavarean fafay ugydt o =

A) TouuE ynieRu= Sidd fAEEUem Tew TR WL

q) T SEEAUATG SR Udet U ges TE .
femen

) UEE UG SATEATIATS Hged €I &l

) ymfior fouumTeR ST T .

g fafaer weem o .

fem forar. (ot )

1) Hare fegum fus

F) o feque fay @ wgea
%) T e <5k

g) fouum fax

Q00O
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Total No. of Questions : 5] SEAT No.

P649 [Total No. of Pages : 2

[5415]-1015
F.Y. B.Com.
CONSUMER PROTECTION AND BUSINESS ETHICS
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define the term 'consumer'. Explain the duites and responsibilities of
Consumer. [16]

02) Explain the various mechanisms of Consumer Disputes Redressal under
Consumer Protection Act. [16]
OR
State the scope and features of Consumer Protection act, 1986.

Q3) a) State the United Nations guidelines for promotion of sustainable

consumption. [8]
b) State the procedure of filing complaints under Consumer Protection Act,
1986. [8]

OR

a) Discuss the Ethics of production.
b) State the provisions in the Competition Act, 2002 under section 3 to 6.

04) Explain in detail the Business Ethics & Environmental Issues in India & at
International level. [16]

05) Write short notes (any two): [16]
a) Importance of 'Consumer Education.
b) Ethical Issues in Human Resource Management.
c) Professional Business ethics.
d) Green Initiatives.

Q00O
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Total No. of Questions : 5]

P649

[5415]-1015
F.Y. B.Com.
UTEH |GV AT SATaETRIe Hdigea
(2013 Pattern)
(WS TUTNR)

d: 3 @ | [ TgoT 7707 - 80
o :— 1) &F 997 TS0 SHIavas 7.

2) ITAIHSIA 3k TIATR GUF T FIAAA.
3) @gurardt ge sASH TIAaiEAHT TgT.

Tv71)

g972)

7973)

g74)

975)

“TTgeh’ A1 T SAREAT I TMEhTet el F FEGHT T H. [16]

TTEeh TREAVT HIETNTER ITghTeAT TehRi™ HERUT hum= I=0n TE &, [16]
feren
UTgeh TRLJUT HIET, 1986 =it =amdt @ STt we .

) T Y T IMYEd SeATE SUWRTTE TIeaTg-TeN HHesieh ded T8 . [8]

F) ek TG HEET, 1986 THR ThR SRS SHIUATE Ufshal 08 T, [8]
feren

) Tl H. SeEAT Afaed

F) Tl wEEr, 2002 Ui e 3 9 6 i ST avde T .

A U1 ATk UTASIANIe TSI ifaded AT Uaierui™ Hag Ao T
. [16]

fe zn. (ST €M) [16]
) ek e g,
F) AT GHIYA STEATUATAA AT Hag.
®) AT ST AT,
g) glia YeER.
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Total No. of Questions : 5] SEAT No.

P650 [Total No. of Pages : 2

[5415]-1016
F.Y. B.Com.
BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What do you mean by Preventing the pollution? Describe in detail the remedies
of Preventing the pollution. [16]

02) Define the term Business Environment. Explain in detail the types of Business
Environment. [16]
OR
What is Poverty? Describe in detail the causes and remedies of Poverty.

03) a) Explain the habits of Entrepreneurs. [8]
b) Describe the importance of Entrepreneurship. [8]
OR
a)  Write a detail note on Entrepreneurship Development Institute of India.
(EDII).

b)  Write a note on District Industries Centre (DIC)
04) Write a detail information of any successful entrepreneurs from your area.[16]

05) Write short notes (any two) [16]
a) Dr. Cyrus Poonawala.
b) Entrepreneur as a catalyst.
c) Dynamics of Motivation.
d) Maharashtra Centre for Entrepreneurship Development (MCED)

QOO0
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P650

[5415]-1016
F.Y. B.Com.

BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP

(2013 Pattern)
(TS FUTR)

gz 3 | [ Tzor 7797 : 80
AT :— 1) §F G99 IS0 HEvTwE A,

2) STdiESIeT 3 FvTe quf T Fiiaar.
3) @eulardt qes Ul F9TalIeET TgTe.

Tv71)

7972)

7973)

gy74)

g975)

TgUUT e AT STauTE T el e g 2 SEwuT HEsuean SurEE
feRRUUl JUH . [16]

TGRSR TITERUT 91 F3iell SAREAT 2. SATSHIIeh UHTERuTe TehR Efeeaiqul ferre

. [16]
femant

TGS TEUT i ? SRS ShUT SATTUT SUTHISIAT HTaedut Ui .

) TR AT T . [8]

q) SISkl Uged SU . [8]
feman

A) WA Iensrehd foera @xen (EDI 1) amer afeer fou forgr.
9) Rieg s g aer fou o

TS WRTAI hIVTCTE! AIRE SETehTel Hifgdt Hfoawdut forar. [16]

fem forar. (ot ) [16]
) <M. e AT,

q) IUSIH Uk 0.

&) RO T

g) HERIE SRl faem g (MCED)
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P651 [Total No. of Pages : 4

[5415]-1017
F.Y. B.Com.
FOUNDATION COURSE IN COMMERCE
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) a) What is Franchising? What are the advantages of Franchising? [8]

b) Define Joint venture? Describe the limitations of Joint venture. [8]
02) Distinguish between proprietary and partnership firm. [16]
OR

What is Business organisations? Describe the advantages of various forms of
Business organisations in detail.

03) What is SEBI? Describe the role of SEBI in protecting the Interest of the

Investors. [16]
OR
What is commodity Exchange? Describe working and procedure followed in
commodity Exchange.
04) Write the meanings of following terms. (Any 8) [16]
a) EXIM
b) Patent
c) CreditRating
d) AGMARK
e) WTO
f)  SENSEX

g) Outsourcing
h)  Depository

i)  Mutual Funds
) Yellow Page

PTO.



05) Write short notes (Any 2)

a)
b)
c)
d)

Online Trading
Local Commodity Market
Protection and Education of Investors

Business Ethics

Q00
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Total No. of Questions : 5]

P651
[5415]-1017
F.Y. B.Com.
FOUNDATION COURSE IN COMMERCE
(2013 Pattern)
(WSt BaiIR)
gz 3 ar] [ Tzor 7797 : 80

gEqr :~ 1) §F g9 GiSlE0 AEavadd g,

2) Iodiweicr JTeke T quT 0T Ffiaard.

Tv71)

7972)

7973)

797 4)

)  THESRTT U T ? TSN W Ui . [8]

q) T UEH SATHE TgUTS R ? TeR ATEHTed Haiel T . [8]

TS SIaH™ & UGN STada AL Tleh T8 & [16]
feran

HAH™ HHeA TS i ? e Tehea saeed guea™ wiEe TE .

it TEUTS 1A ? TAAU I Eereadl 1101 ShvaTHED Sl WiHeh! auiH . [16]
fren

T U I ? SR EEmEd U ST AT et 9 gfshan

U .

Wil e 31ed fergt. (SRt 318 ) [16]
) e

g) uee

®) shise Ien
g) I

3) Teql.dtal.
W) e

) MSedtyn
7) feuitaed
@) TSI WS
) T U



y75) T forn. (o 2)
) AtTeEa &M
EVIIR2UECELS EIECRE IS
®) TAGUERERIS HREAuT & frerur

) SaEE g
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Total No. of Questions : 5] SEAT No.

P652

Time : 3 Hours]

[Total No. of Pages : 2

[5415]-1018
F.Y. B.Com. (Regular)
ADDITIONAL ENGLISH
(2013 Pattern)

Text-Gems of English Prose and Poetry

Edited by - Dr. Ashok Chaskar
Dr. Vijay Madage
Dr. Anand Kulkarni

[Max. Marks : 60

Instructions to the candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Attempt any one from (A) and one from (B) in about 100 words each: [12]

A) i)
ii)
B) i)
ii)

Describe the effects of globalization on Indian farmers.

Comment on the greatest evils of advertizing with reference to
Herman Wouk's "A Talk on Advertizing".

Describe Legum's ideas on the growth of population in urban areas.

Comment on the theme of the poem "Once Upon a Time"

02) Attempt any one from (A) and one from (B) in about 100 words each: [12]

A) )
if)
B) 1
if)

How does Stephen Leacock bring out humour in the story
"My Financial" Career"?

Describe dilemma of the traveller in"The Road Not Taken".

What are the different examples of good manners that J.C. Hill
talks about?

What kind of freedom does Tagore desire in "Where the Mind is
Without Fear"?

PTO.



03) Attempt any one from (A) and one from (B) in about 100 words each: [12]

A) i)
ii)
B) i)
ii)

According to satyajit Ray, what are the difficulties in creating the
films that show Indian realities?

Summarize the poem"When we two parted.

What are the sufferings of African Americans listed by Martin Luther
King?

Describe the different ways in which Walt Whitman thinks of God
in the poem "Gods"

04) Attempt any one from (A) and one from (B) in about 100 words each: [12]

A) 1) How does Aruna Roy evaluate the life of the poor and the
disadvantaged people in India?
i)  Write a critical appreciation of the poem"The Lotus"
B) i How does Vivekanand emphasize tolerance and universal
brotherhood in"The Chicago Speech"?
i)  Describe theme of the poem"Father Returning Home".
05) A) Attempt any one of the following in about 100 words. [6]
i)  Analyze the character of Mangal Singh in the story "Duty"
i) Comment on the different stages of life as described in the poem
"All the world's a stage"
B) Attempt any three of the following: [6]
a) give synonyms
i)  Beautiful
i) -~ Clever
b) Give antonyms
i)  believable
i) Active
c) Make nouns
i)  develop
i)  Suggest
d) Rewrite the sentences choosing correct alternative.

[5415]-1018

i) I gave him advice/advise to opt for M.B.A.

i) He could not bare/bear harsh remarks.
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Total No. of Questions : 5] SEAT No. :

P653 [Total No. of Pages : 3
[5415]-1019
F.Y. B.Com. (Regular)

MARATHI
TSR & ST WISt
(2013 UeH)
ugagE R — 1) Fvmmen
2) AEEINE 9 IuMIa WSt
dez: 3 | | [ TEoT 7707 : 60
AT o 1) @d g7 @islav JEvas 3.

2) 3wdlBEIeT ik T9ATR Ul o7 FIEATa.

gg7 1) WETEAAAdh! HIvTCETE! Tehi—famamer 500 yrsera e forr. [10]
i)  STETESULT 3ATHUT |IHINT T
i) Vdaer=aTea tergea: K snion Rem
iil) ®UET STeEaA: U THE
iv) ol @ ugsEen gdi.... (@fem)

g972)  Wclicidehl ShivTeaTgl a8t gearen 20 vrsaia S forgn. [10]
i) =i ofium EE] A RO eI G heft ?
ii) A1 HAYTERY T ShIUTET S0t A1aH TRfa fevesia et ?
iii) SYTEa TS0 HERTE Hor foramdiere ufget SeRTe shivl gid ?
iv) ST, T AR AT W hegl et ?
v) . foea vea ared SgHiet S Uige Shiut ?
vi) @i g.fa. oweer ait Sedhe v thegt G et
vii) . SIS qi A hieaTaes ThivTd e IURHA ?
viii) fEaTg TuehTes T AT ST AT gk Wiid g ?
ix) oft 9 Et wRfEE A AT ST Hell ?
X) IR it fafsrer ot fetgeiean S geaeR=h Ama T,
xi) .TH. . g T VA AT TA1 TR A 2
Xii) Wi dgeTeRt AT ATAUVT RIS et ?
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g973)  Wieiiciieh! ShivTeTdl IR Te-rel St forgt. [20]

i)

i)

iii)

iv)

vi)

g7 4) A)

[5415]-1019

T HEHTETAITEA ATEHHREITAE 3TE STAT ATEIIUaTaTst |, Jremeiean
A 3T .

e Fit wEicET wm wom wHer ot e asgon g JenE W
T SITAT ST, TR A, Regt FHt feeprl areamandt fewul T .

eIy (Ll SHdUaTaTEa . W SiisE | Setieiean e aue 3iiga
o=

Ut T SHTS Hed1ul hEierarel Ul SEeeiell 3TEH IS ieuTseh
TR .

A TR e AHEIRT SiefehTd SheaT! 31g. Treaet SR HiewT

IR h.

TR .

WIIAUeh VTS UhT AT 3T fora. [5]

i) g eHER FAUAEE AR TR .

i) e B Fofe sy P e At ot e v st
HOATT A SR, TATETS AR g TaR .

WICATCTIh! ShIVTETE Ut TR & fotat. [S]

i)  Director

ii) Audit

iii) Cashier

1v) Tax-Free

v) Eligibility

vi) Claim

vii) Balance



97 5)

Wil SUSH IaT=aTel A HIHTe . [10]

The world into which we all come has been left to us by our
Fathers and their Fathers before them. It is composed more of the past
than of the present. The cities and villages in which we all live were
built by hands other than ours, and the railways that carry us form
place to place was planned and constructed by men who are probably
dead. Everything around us is due. in whole or in part, to the skill,
labour and energy of those who went before us along the road of life.

e
WA 3AT=ATe Ueh Tyl ARIVTCRE e I THUh Jiueh oI

TNFRIMETED SHFAAT TR HEed TR Tedeh eI Ffera s staean Stiaama
YT AHFAA TH, Hivied 9 Fot FWesfauaran T el WIS, @& T
SeRIl TIeR AT U, TAIRIME & CAehi-t_ 3TUel G HETHTh cirehTeeT
THEATITER AT DA Taugdl sTeeae fafae wateicl yme==on @ 3
T R THSTIT TS Teaieh AFTRERT SHIUEHT UL Hgehtdl ohet el Al (e Temiet
3D WEA FHE Ihel. TEUM AIRIMEAIA TRTREh HIgR T Had FH U8 e o
FTHEAT U, T Sardl WIUE FgUIH T SRTea STEaTd. W vl Wiasn sifermresn
AR 31 fehan Aol Sivs TrteR % wla . & vEaT ARIIEIde AnTeRTea
AT &S0 A9 3T,

TANRIMEA ANTNGRI &, TTa, form, ST semeige Swa-iear fHuiot g, /™ W
HHT .
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Total No. of Questions : 4] SEAT No. :

P654 [Total No. of Pages : 3
[5415]-1020
FY. B.Com.

HINDI (Additional)
(Serfeuss) (2013 UeH)

UrgagEah: — 1) T uiEe

HuTgeh: B, FHHACTHR
2) U= e
HuTgeh: Sf. GHTHACTHR
g 3 w2 [qoits: 60
gAY 1) @t 5w siar & |
2) R AR for@ 3k w97 & gl &)
gpr 1) FrafeaRea # @ fred @i weAi @ s forRam: [15]
i) argar iR SEEE 1 GAT UTS § TREeh A AW SieH chl TRl S STUR

foret W B2
ii) @UH @ % Hfckicd W Teh1Il STHeTy|
iii) viaqE ferciie i fohe TR & qrEmrl | aeta feran e 22
iv) ‘urft 3R gt st o | feRa)
V) ‘HEWE whErl % e St uie e fifm)

gg72) FrafaRaa o @ fFE @ g9t & S A8 o fakau | [15]
) B Shaw it % wiean | watiE . we aEd 87
i) ‘e Ha W AT % g i 3w Haw e 22
iii) =t Fife TROT smrETe <@g § e Y it s
iv) “TeTE A quE’ Sican 1 39 TE i)
V) ‘gEEd hidal B swatEt 4 fagenett o quH e TR fha 27

P.T.O.



gg73) 1) FrafaRaa o @ frdt v sraaon & waey smen fifsu) [5]

i) O3 @ 39 T B Th-Teh TYH dh ¢ | W 3T Ig TATHT {ehaHT
AT~ & @2l

ii) & g 1Al 8 HEHTE ............ W gHRT 3 WA 8 g EvE|
an) FefoRea # @ fore ter st h aEey == Hitu) [5]
i) “Awfa - wife iR Aorga A Sram
e, JreTE 3R w
T U9 3, A oot 3¢ TR
TggH, el W T |t g sen”
i) <t ez g fem, wivn 7 Bifse
geer ot g @ T H et 7 siiul
Irtg feeRt T @ SieH & Wy g
AR o ST St ST 7 Bl
3) frafaRaa o @ e arer a9t & W U T | felRan) [5]
i) e uRed % e w6t A feRan)
i) e 3R saaer st g’ ey % Feager #m 2e
iii) af-uy’ wEF % TgE U= % T fatau)
iv) W T T ren oiee it el | fued ot e
V) U s el W [l ?
vi) gETEER <iem % st % el W §7
vii) ‘sere’ et # fren s ok e 3o
viii) T &S @ dien T % foro foraeht e gt 21
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gp74) &) TmataRea 4 @ - uie wisdi & & uiitanfes visg fofam | [5]
i)  Account
ii) Business
iii) Customer
1v) Discount
v) Finance
vi) Instalment
vii) Joing
viii) Valuation
w) frafaRaa ¥ 9 ol v fommam =t srede Taan danr Ak [5]
i) U &N % TG T ATRYE T
ii) Wi AglRe @ e fammae|
) Tefeiien uitese i g fiers | @eer (Feron) Hif) [5]
STEEAT ht TG WA o 10 31t ek forehe e &9 T 31 9 a9
@t Y@ TFI=1 o foTu Teh HEeRt AT 8| TR § hig — WeRlSt Sht |itd
STEATEUH TIFA | STEH! W0 U gl 7 49, T g4, 7 R, 7 g@, Uit gaea
T SR a8 The M @ RN 3| HaW W $vedd e wea aren
AR T ) 36 el Teaptd % fore Rvdier 31 = Raem =6 98 aik
T i o | g 1en ot Yoeh 3R T Rt TR A 8 Al 31e-3@, AU
Tl h HAR WL HHAT G WA 301 71— Frger afersr wwgran 31 afe 3w
SHgEf W = 7 @ TRt dt AR TR TEE SR s e gt S|
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Total No. of Questions : 5] SEAT No. :

P655 [Total No. of Pages : 2

[5415]-1021
F.Y. B.Com.
GUJARATI (Regular)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) Answer all questions.

2) Figures to the right indicate full marks.

yst- 4 ol Aol Higll A1 UL As AN UR (ot el (1)

1 gel aldl dRULE aldl
3 MM
3 sHsAYd
¥ UENQL U valarel
Yst- 2 816 uQL As ys ol u[&meieﬂe . (15)

1 ¢flaldl ott 3oll Eoatderr MR .

3 KACRIM of WAt 53,

Yst:- 3 516 WL A5 Yt oll AR Grl? cull. (15)

1 5[d Yot of Yclol viat Sclot WA,

2 Yot M ofl 5(clctl2A ui Al Hadl ysid Y,
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Ys ¥ () &sellelcull. (S8 uglAs ) (0¢)
1 sHIE el taue ol AGALS

2 vidrla atdl ol wallen 52
(o) &solltl AUlL(81E uQLAs)

(0¢)
L UL A1 slca oll telfel ure 53,

2 [ARee ofl uatell stcat Hi Blotl [AR12 £dlot aAcl B? uHA
s w () Yelur ol cull. (35 oteL As uel) (0¢)
T % HIRRL M HUEI of i Ul otell auudl Aol WA g Hivtaus]?
2 BcAl R ay wuca 2dA B,

3 duM R we oy 8lsdl?

o

Yool cllR yg A2t ollcR.

Ys U (6l) UAQUel (0¢)

BRI % elot Hi gall of Hccloll UM BUUALBS U AHIRL A o el

Yl

WSl Autet

R5clElel QUAR' (A3 2R AU ACEVHL WScllEt crll
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Total No. of Questions : 4] SEAT No. :

P656 [Total No. of Pages : 2

[5415]-1022
F.Y. B.Com.
SINDHI

Annual

(2013 Pattern)
o : 3 g2
Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

g7 1) 3 e wi e o e e o e o -
i) Tada ymi fhe el e @re
ii) R T @ Heoh B e
iii) g e MG M gE?
iv) 3yl Saanuitet it fern fo ool # ot fagst ag 2
v) Vasw O e mn # e gane
vi) From fist TR A0
vii) $vERt MaaUiter @ i H afg 9 o1 fewu s e
viii) fodt et @ ot o swzmn 2
iX) IR o\ Te d B A T3 ?

X) eI @ A Ug 0T Fad BT Uggd ofial 8r?

[qurie : 80

[20]
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garer 2) saf wi o for faf gamefy < ey forat - [20]
i) “gari iR ey R wfam @ Wgmy s fren e e
i) mmmm‘wﬁmmmf
iii) ‘@Y AYEE 54§ IS T U AR I 7§ Shigel Weh TS ST ?
iv) e e et a6 wied wwenh i e ?

garer 3) efsaf wi fonf for fafr gerert s ey fora <~ [30]
i) wEra 9 foRER A Aow T e
ii) fron sh frer frmd s
iii) ot St AR d o3 d g e
iv) fufaer s ufgsh ae = foar feRet st e

garer 4) afeaf o &g fa g fova @ v fora @~ [10]
i) uerdl vt W
ii) Yot e S e
iii) R Tk ot wifer - EwHEITER'
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Total No. of Questions : 5] SEAT No. :

P657 [Total No. of Pages : 2

[5415]-1023
F.Y. B.Com.
URDU
(2013 Pattern) (General Paper - 1)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) Attempt all questions.

2)  Figures to the left indicate full marks.
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Total No. of Questions : 5] SEAT No. :

P658 [Total No. of Pages : 3

[5415]-1024
F.Y. B.Com.
PERSIAN
Adbiyat-e-Farsi
(2013 Pattern) (General Paper - 1)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
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Total No. i :
otal No. of Questions : 5] SEAT No. :
P659 [Total No. of Pages : 4
[5415]-1025
EF.Y. B.Com.
FRENCH
(2013 Pattern)
Time : 3 Hours]| [Max. Marks : 60
Instructions to the candidates:
1) All questions are compulsory.
2)  Use of dictionary is not allowed.

Q.1. Complétez un dialogue ve (10)

A. Mme Dufour va chez un chocolatier. ‘(‘ veut acheter un assortiment de chocolats. Elle parle

au chocolatier. g

Mme Dufour : - .

Le chocolatier : Lesquels voulez-vous ?

Mme Dufour : .

Le chocolatier : Bien sir. Ce sont les chocolats au lait classiques et 13, ce sont des

chocolats noirs moins sucrés.

Mme Dufour :

Le chocolatier : Ce sont des chocolats aux épices.

Mme Dufour :

Le chocolatier : Ici, ce sont les chocolats au thé vert. Vous voulez goiiter ?

Mme Dufour :

Le chocolatier : Alors, lesquels voulez-vous ?

Mme Dufour : Donnez-moi

oU

B. Isabelle Pinet va au restaurant ‘Gastronomier™ avec un collégue. Ils demandent deux
couverts. I's commandent la salade © Césare’ comme entrée et le pouiet roti comme plat
principal. Comme dessert, ils prennent une salade de fruits {rais. Avec le repas, ils prennent du
vin de Bourgogne et une bouteille d’eau minérale.

Isabelle : Bonjcur monsieur. J'ai une réservation.

PTO.




Le réceptionniste :

Isabelle : Au nom d’Isabelle Pinet.

Le réceptionniste : ?

Isabelle : Oui, merci... Vous avez la carte, s’il vous plait ?

Le réceptionniste : s

Isabelle : Qui. Nous allons prendre la salade ‘Césare’ a poulet mariné.

Le réceptionniste :

Isabelle : Du poulet rti avec du riz & 1’espagnol.

Le réceptionniste: .

[sabelle: De la salade de fruits frais. Et comme boisson, deux verres de Bourgogne

et une bouteille d’eau minérale, s’il vous plait.

Q.3. Grammaire et vocabulaire

A. Mettez au pluriel : (2)
1. 1l est plus élégant.

2. Je viens avec une proposition.

B. Soulignez I’objet direct : @)
1. Je voudrais les précisions.

2. Vous offrez la bouteille & votre hote.

3. J’ai commandé ces bottes sur Lazando.

4, Le matin, j’ai les réunions.

C. Complétez avec des prépositions ()
1. Je m’habille aller au travail.
2. Lucie va Nantes pour une conférence.

E. Choisissez la bonne réponse : (2)

1. C’est toujours le salaire net/brut qui est indiqué sur les offres d’emploi.
2. Le boulanger travaille 4 la boulangerie/boucherie.

F. Dites vrai ou faux : 3)
1. En France, la durée légale du travail est de 35 heures.

2. En France, quand on est invité au diner chez des amis, on prépare le repas.
3. En France, au restaurant on ne paye pas le pain et le couvert.

G. Complétez avec des mots donnés : (entreprise, en, de la, travail ) 4)
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Francé, le style de vétements portés au dépend du secteur d’activité,
fonction ou du statut des personnes et de la culture d’

H. Mettez les verbes entre parenthéses au temps indiqué : )]
1. Diane (prendre - passé composé) ’avion le 16 décembre.
2. Le directeur général (gerer - présent) 'ensemble des activités de I’entreprise.
3 Ladirectrice (finir - futur) son travail.
4. Le réceptionniste (faire — futur proche) les réservations.

K. Reliez les deux colonnes e 4)
A B.

1. Une compagnie a) Le boucher.

2. PME b) Titre de voyage.

3. Une boucherie ¢) Petites et moyennes entreprises.

4. Le billet d) aériénne.

Q4. A. Ecrivez en forme de paragraphe ()

Voici I'organigramme de I'entreprise GESTALT.

Directrice Commerciale - Mme. Geraldine
Marchandeau

Assistante = Sophie Girardet [™

| ] ]
Esponsaple

Responsable des | | marketting- Prakash esponsave de

I'administration des
gntes - Yonne Fayolle ventes - Jean-Michel Fayet

 attaches 2 chefs de produits
commerciaux 2 assistantes
éé
ou
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B. Décrivez le processus de fabrication des boites de conserves de petits pois. Utilisez les mots
suivants: remplir, fermer, stériliser, refroidir, envoyer, des cartons, des distributeurs.
Pour cela utilisez les mots connecteurs — d’abord, puis, aprés, avec, dans. ..

Q.5. A. Traduisez en anglais: (5)

Les salariés frangais sont priés de respecter les horaires de travail et les dates de congés
payés que la direction fixe. Il est interdit de modifier ces horaires et ces dates sans accord de la
Direction.

En cas d’absence, le salari¢ doit informer son responsable hiérarchique. Un certificat
meédicat-est obligatoire en cas de maladie ou d*accident.

B. Traduisez en francais: (5 au choix) 10)
1. The personnel must respect the security instructions.

2. First, one mixes the vegetable oil.

3. She is a very professional.

4. My mother ordered shoes on this site.

5. These chocolates a made of green tea.

6. Do you want something else?

Q. 6. Compréhension
Les espadrilles sont des chaussures d’origine basque, une région au sud-ouest de la

France. Nés en 1890, ces chaussures sont aujourd’hui de nouveau a la mode parce que deux
amis, Mathieu Labat et Julien Maisonnave, agés de 36 et 37 ans, ont eu I’idée de créer des
modeéles modernes.

A. Dites vrai ou faux : (C))

1. Les espadrilles ont d’origine basque.

2. La région basque se trouve au sud-est de la France.

3. Les espadrilles sont des chaussures.

4. Deux amis ont eu 1’idée de créer des modéles modernes.

B. Donnez le contraire : nouveau, sud 1)

QOO0
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Total No. of Questions : 6]

P660

SEAT No. :
[Total No. of Pages : 7

Time : 3 Hours]

[5415]-1026
F.Y. B.Com.
GERMAN (Basic)
(2013 Pattern)

Instructions to the candidates:

1) All questions are compulsory.
2) 10 Marks are for Reading Comprehension and 10 marks for oral Exam.

Frage 1. Beantworten Sie die folgenden Fragen! (Nur 05) _ [10]
1. Was machen Sie in [hrer Freizeit?
2. Wie haben Sie Diwali gefeiert?
3. Was essen Sie zum Friihstiick?
4. Wie oft gehen Sie einkaufen? Wohin?
5. Es ist sehr warm. Was méchten Sie essen und trinken?
6. Was darf man im Unterricht nicht machen?
7. Warum lernen Sie Deutsch?
8. Wie lange lernen Sie jeden Tag?
Frage IL. Ubersetzen Sie! [10]
(A) Ubersetzen Sie ins Englische! (03)

Jochen Pensler, 21, studiert in Leipzig Biologie. Sein Zimmer ist ein Zoo. Zurzeit
hat er 6 Schlangen, 26 Spinnen, 14 Miuse und 1 Krokodil. Aber er hat kein Telefon
und kein Radio. Einen Fernseher hat er auch nicht. .»lch hére keine Musik und ich
brauche keine Unterhaltung.*

(B) Ubersetzen Sie ins Englische! (03)
Viele Schulen in Deutschland haben eine Deutschlandperspektive. Sie haben
Partnerschulen und sie planen internationale Internetprojekte und Programme mit
anderen Schulen in Europa. In Deutschland lernen alle Schiiler und Schiilerinnen eine
oder andere Fremdsprachen in der Schule.

(C) Ubersetzen Sie ins Deutsche! (Nur 2) (04)
1. How can I help you?
2. Last week I was very ill.
3. The cat is sitting under the bed.
4. Kids, get up early tomorrow.

Frage III. Lesen Sie den folgenden Text und beantworten Sie die folgenden Frage! [08]

Eltern kochen in der Schule

Besonders gern gehen die Schiilerinnen und Schiiler der Schillerschule in Bad Homburg
dienstags, mittwochs und donnerstags zur Schule. Da kochen ihre Miitter und Viter in der
Schulkiiche ein tolles Mittagessen. Es gibt Fleisch oder Fisch, Kartoffeln oder Nudeln, Gemiise,
Salate und zum Schluss Eis, Kuchen oder Quark und Obst. Alles sehr gesund! Das Essen kostet
2,50 Euro.

Wenn die Schiiler nicht richtig Mittag essen wollen, kénnen sie in die Cafeteria oder zum
Schulkiosk gehen. Das organisieren auch die Eltern.

Die Cafeteria ist montags bis freitags getffnet und bietet fiir 1,2 — 1,60 Euro Brétchen mit Kiise
oder Wurst, Salat und Suppe an. Am Kiosk kann man immter Joghurt, Obst, frische Brétchen,
Milchgetrinke und Tee kaufen. Alles kostet nur 60 Cent.

Das Geld brauchen die Eltern fiir die Lebensmittel. Manchmal konnen sie etwas sparen (save)
und neue Sachen fiir die Kiiche kaufen. An dem Projekt nehmen 60 Miitter und Viter teil. Sie

[Max. Marks : 80

PTO.



1

kaufen ein, kochen, verkaufen das Essen und machen auch alles sauber. Sie nehmen kein Geld

fiir ihre Arbeit. Sie machen alles kostenlos. Deshalb ist das Essen auch so billig.
A) Beantworten Sie die Fragen!

1. Was machen die Eltern in der Schule? und Wann?

2. Was kann man am Schulkiosk bekommen?

B) Richtig oder Falsch?

|. Die Eltern kochen zu Hause und kommen in die Schule.
2. Die Schule hat auch eine Kiiche.

3. Die Cafeteria ist am Wochenende geschlossen.
C) Suchen Sie zwei Priipositionen aus dem Text
Frage IV. Grammatik und Wortschatz.

(A)Erginzen Sie die Personalpronomen! (Nur 3)
1. Ich kann meinen Schliissel nicht finden. Ich suche
2, Habt _ die Hausaufgaben gemacht, Kinder?
3. Das Kind ist im Garten. spielt da Fufball.
4. Besuchtdu  morgen? Ich habe morgen Zeit.
(B) Ergiinzen Sie die Possessivpronomen! (Nur 3)
1. Das Midchen hat Heft zu Hause vergessen.
2. Das ist Vater. Ich liebe ihn sehr.
3. Habtihr Kleider eingepackt?
4, Ist das Auto, Stefan?
5. Herr Winkel wohnt in Berlin. Aber Frau wohnt in Miinchen.
(C)Ergiinzen Sie die richtigen bestimmten/unbestimmten Artikel! (Nur 3)
1. Hastdu Schlafsack?
2. Wiefindetihr __ Schuhe dort?
3. Ich brauche Schrank fir meine Kleider.
4. Junge istkrank. Er soll im Bett bleiben.
5. Wirmochten  Film sehen.
(D)Schreiben Sie das richtige Modalverb! (Nur 3)
1. ihr gut malen?
Wir Fastfood.
Hier man nicht parken.
Die Studenten eine Pause machen.
Es ist sehr warm. Man viel Wasser trinken.
6. Ich Pilot werden.
(E) Ergiinzen Sie die richtige Priposition! (Nur 3)
1. DasBild hiingt  der Wand.
2. Frau Stern stellt die Flaschen den Kihlschrank.
3. Wo bist du? -Ich bin der Kosmetikerin.
4. Ich habe Kopfschmerzen. Ich gehe dem Arzt.
(F) Schreiben Sie die folgenden Sétze im Perfekt! (Nur 3)
1. Er packt schnell die Geschenke aus.
2. Karin besucht immer sonntags ihren Freund.
3. Am Sonntag rufe ich meinen besten Freund an .

Sl
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4. Wann fliegst du nach London?

5. Der Mann repariert sein Auto in der Garage.
(G)Bilden Sie Fragen! (Nur 2)

1. Ich suche einen Rock.

2. Ich treffe morgen meine Cousins.

3. Der Unterricht dauert zwei Stunden.

Frage V, Wortschatz!

(A)Schreiben Sie die Gegenteile!
1. links #
2. billig#
(B) Was passt nicht?
1. Sohn — Tochter — Onkel — Frauen
2. Koffer: groB - freundlich —alt — kaputt
3. zeichnen: Blumen — Menschen — Katze — Englisch
4. betreten: einen Rasen — den Abend — ein Museum — ein Restaurant

FrageV [ Schreiben Sie eine Ansichtskarte und einen Zettel/ eine SMS!

1. Sie sind auf einer Osterreichreise. Schreiben Sie eine Ansichtskarte an Thren
Freund/ Thre Freundin! Thr Freund/Ihre Freundin wohnt in Indien.

2. Schreiben Sie einen Zettel ODER eine SMS fiir Nicole. Sie miissen nach
Hamburg fliegen. Sie kommen am Mittwoch wieder zuriick. Nicole soll Sie
anrufen.

Q00O
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Total No. of Questions : 6]

P660
[5415]-1026
F.Y. B.Com.
GERMAN (Advanced)
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:

1)  Use of a dictionary is not allowed.

2) 10 marks are for oral examination and 10 marks for listening
comprehension.

Frage 1. Ubersetzen Sie [12]

(A) Ubersetzen Sie den folgenden Text ins Englische! (6)

Am 3. Oktober feiert man in Deutschland die Vereinigung mit der DDR. Im Herbst gibt es auch
viele regionale Brauche. In vielen Orten am Rhein feiert man die Weinlese. Uberall gibt es die
Erntedankfeste. Fiir viele Touristen ist Deutschland das Land der Volksfeste. Der Wurstmarkt
von Bad Dirkheim ist das groBte Weinfest der Welt. Jedes Jahr kommen mehr als 60 000
Besucher. Sie essen mehr als 100 Kg Wiirste! Hier gibt es auch das grofite Weinfass der Welt.
Natiirlich gibt es auch viele Attraktionen wie Karussells und Achterbahnen.

| (B) Ubersetzen Sie ins Deutsche! (Nur 3) | (6)]

Between East and West there are still many differences,
There are more than 1000 breweries in Germany.

German children and adults love different types of breads.
I want a friend who is kind and loving.

oW —

To make a career is as important to young women as to young men.

i Frage 2. Beantworten Sie die folgenden Fragen! (Nur 4) | 8] |

1. Nenne zwei deutsche Stidte und ihre Besonderheiten!

2. Schreiben Sie tiber die Eigenschaften von lhren Freunden? Wie wichtig ist Freundschaft
im Leben?

3. Wie feiert man den Sylvesterabend in Deutschland?

4. Wie ist lhre Beziehung mit Thren Eltern? Was erlauben sie Thnen? Was ist Thnen
verboten? '

5. Was alles gibt es bei den Christkindlmérkten in Deutschland?

6. Was denken Sie tiber Migration? Unterstiitzen Sie diesen Trend?



Frage3. | Lesen Sie den folgenden Text und beantworten Sie die folgenden | [8]
Fragen!

| Dunkle Winter machen depressiv

Zu wenig Tageslicht und Sonne im Winter kann depressiv machen . In Nordeuropa leiden in der
dunklen Jahreszeit bis zu 30 Prozent der Menschen an Depressionen. Deutsche Winter sind auch
oft dunkel. Die Tage sind kurz und die Sonne zeigt sich nur selten. Der Winter 2017 war so triib
wie seit 70 Jahren nicht mehr. Bei Vielen lst sich das graue Winter eine Winterdepression aus.
Dann fiihlen sie sich miide und schlapp. Es kann oft mehrere Monate dauern. 80 Prozent der
Betroffenen sind Frauen.

Ein typisches Symptom fiir Winterdepression oder einen Winterblues. ist extreme Miidigkeit.
Die Betoffenen sind oft so miide, dass es ihnen schwer fillt . sich fiir ihre Arbeit und ihren
Alltag zu motivieren. Sie sind dann traurig und lustlos und vernachlassigen oft sogar ihre soziale
Kontakte. Hinzu kommt oft groPer Hunger auf Siiigkeiten oder Kohlenhydrate. Die Menschen
dann nehmen zu.

Die Ursache fiir eine Winterdepression und ihre Folgen ist das fehlende Licht. Wenn es weniger
natiirliches Licht gibt, sind die Hormone im menschlichen Kérper gestort,

Die Losung dafiir ist also das Tageslicht selbst. Man sollte so viel wie moglich draufen spazieren
gehen und sich bewegen. RegelméBiger Sport kann bei Winterdepressionen helfen. Dazu sollte
man auf eine gesunde und vor allem vitaminreiche Ernéihrung achten. Wenn im Frithling dann
die Tage wieder langer werden und es wieder mehr Sonnenstunden gibt, ist die depressive Phase
hoffentlich vorbei.

auslisen — 1o trigger;  triib- dull; schlapp —worn-out; die Betroffenen- people affected:
vernachldssigen- io neglect; Ursache- cause

| (A) Beantworten Sie die folgenden Fragen zum Text! | )]
I Wie wirkt der Winter auf die Menschen im Nordeuropa ?

2 Was soll man gegen Depression tun ?

| (B)Richtig oder Falsch? I ()]
L 70% der Nordeuropder leiden nicht im Winter an Depression.

2 Extreme Miidigkeit ist ein Symptom der Depression.
3 Mehrere Frauen sind von Depression betroffen.
| (C)Suche aus dem Text! (1)
Suche zwei Adjektive, die eine negative Bedeutung haben!
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Frage 4. | Grammatik | [16]

(A) | Schreiben Sie die Sitze in Passiv! (Nar 4) | @

1
2
3.
4
5

. Seine Frau muss das Auto abholen.
. Elena hat heute ihre Nachbarin angerufen.

Die Kinder schnitten alle Tomaten.

. Spricht man dariiber gern ?
. Der Gast macht das Fenster auf,

(8

) | Setzen Sie das richtige Verb im Priteritum! (Nur 4) | @]

I

(diirfen, heiraten. suchen, geben. gehen)

Wir zufrieden einer freundlichen Kellnerin 25 Euro Trinkgeld.
Am letzten Sonntag das Stadtfest Ganpati zu Ende.

Die Kinder nur im Garten laut spielen.

Im Mirz unser Biirgermeister seine langjahrige Freundin,

Die Kleinen die Eier im Garten.

|__(O)[ Verbinden Sie die Sitze! (Nar 4) | @]

5

(zwar...aber, weil, entweder...oder, obwohl, dass)

Du kannst mit dem Zug nach Delhi fahren . Du kannst auch einen Flug nehmen,

Es wird heute regnen. Es steht in der Zeitung,

Sophie konnte nicht zur Post fahren. Es war zu spét.

Das Leben in einem fremden Land hat Vorteile. Es kann manchmal auch sehr einsam
sein.

Sie macht Didt. Sie ist nur 10 Jahre alt,

L@

) | Ergiinzen Sie die Relativpronomen! (Nur 4) @]

Das Médchen, als Sekretarin arbeiten méchte, kommt aus Keniya,

Alle Kinder, Eltern Auslénder sind, lernen Deutsch langsamer in den deutschen
Schulen,

Die Stadt Pune, in Peshwas lebten, ist heute sehr grop geworden,

Ist das der Mann. du zum Geburtstag eingeladen hast?

Herr Miiller war Manager, ich bei der Wohnungssuche geholfen habe, arbeitet
bei Volkswagen.

Frage 5. | Wortschatz [8] \

AI

Ergiinzen Sie! (Nur 4) ) |

I. Bundesrepublik Deutschland hat Nachbarlander.
2. In Deutschland feiert man den Nikolaustag am
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3. Der
4,

Haribo ist der groBte Hersteller davon, _
5. Die Arbeiter, die aus dem Ausland nach Deutschland Ende 50er Jahre kamen,

bringt den kleinen Kindern Schokoladeneier zu Ostern.
sind kleine Leckerein aus Zucker, Gelatin und Fruchsaft und

nennt man als
| B, | Ordnen Sie zu! 1 @]
I A | B
| Mecklenburg Vorpommern | im Osten
L NordrheinWestfalen | im Stidwesten }
| Sachsen | im Nordwesten |
[ Baden Wiirttemberg T

im Westen

| Frage .6 | Schreiben Sie einen Dialog!

RO

Diskutieren Sie mit Ihrem Freund/ Ihrer Freundin iiber Vorsitze, die Sie zum Neujahr
gemacht haben!

[5415]-1026
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Total No. of Questions : 5]

SEAT No. :
P661 [Total No. of Pages : 3
[5415]-1027
F.Y. B.Com.
SANSKRIT
TR
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 60

Instructions to the candidates:
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

ITHAIHEIT e Ul IOT VAT

Q1) Translate into English or Marathi any one from Section 'A' and any one from

Section 'B' from the following passages. [12]
Yot ‘31 faunTIdiel hivTeTs Tl 9 ' foumiedier shivreardt wehr Sustia fehan
TS WIHTR .

SECTION - A (fawmt - 21)
) TN - AgYEAEaITIEE Wad: |
T T YUE Jeawuie ad |
JEHE UNUA TRRATATHTA R ||
T - (g IT) T Thafi TR |
T - () S |
AGHE - T AHGTEOTE TTeat 59 |
i) e HPaq WiAUTGH: TN,
AT e G et Juararan
TTALTHTITT qutd g Yo WiEaht Sishure: |
qragsig-ierehiewatumfien forea Fevs
AECIAT Ut TISH Uil Yga e Jure ||
SISl T Al |

P.T.O.



SECTION - B (fawm - /)
) TR Yaeddl @ AT Hewa WeTed WeRe |
YuTTaaR TeRriigRu wEetunss e 53y end: ||
i) g FrudmehaE AT —
AATEEEE 9 FAeas |
ERUGEECIERIC R
T q Ut TeawTE o |

02) Explain with reference to context any one from Section 'A' and any one from
Section 'B'. [12]

‘o AT FUTETE TR 9 T R ST TR JEes TSRt .

SECTION - A (faswm - 31)
) IRUTNT v TTEHE AT |
i) Forenfafy: v wafs agar Ao |

SECTION - B (fawm - /)
i)  wErESeRET: gRetvt o T o |
i) ETd Mo JeTi: |

03) Write the ‘Aefemfdufieren’ in your own words. [12]
‘weaferafuuiiehen’ qHeAT yTeaTa fotat.
OR /fFan
Write the summary of “TuTHermfeepR:’
“TUTeTiReRR: a1 greren |t forat.
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Q4) Write the summary of ‘~etrera: fgaw=ng:’
“Ristreha: feaueie:” ureren art forer.
OR /feRan

Write about the author of arstaeer®fd: and his life.
ATeFIEld:’ < Thdl 9 T SiiaA Ao wfgdt forer.

05) Write short notes of the following (any two)

WAt HIUTATR! SR oS Td St forg.

i) et in moTerfeRRR:
TUTHERITTERRIAA 3icat~ieh

i) HETHRAR
i) oFAREd: in STeRTETRR

ATRIETFH A ST
iv) Character sketch of T=iiasra
T fosraTdt Rt

P
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Total No. of Questions : 5]

SEAT No. :
P662 [Total No. of Pages : 5
[5415]-1028
F.Y. B.Com.
ARABIC - Gen. -1
(2013 Pattern)

Time : 3 Hours]
Instructions to the candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

[Max. Marks : 80

Q1) Translate into English or Urdu or Marathi any two of the following Passages : [16]

V2 5105 ;’._, Sl ALl g —G)

.a-r-"‘/ S/ B
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02) Explain any four of the following couplets : [16]

== Wbdtﬂa\)\; &)

___(9~L¥/v/ o\ Gl
G\;bﬂ;fw@\}

e MW@\

> /)’c s, 0o 7/
_____MS “/4‘/_@)\@
T I /2
A P AR,

/ 3 72 & T
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03) A) Translate into English and four of the following sentences : [8]

___a(/;y(/@ duLao”u\l 0,

_dﬁéé&@\:)x\-) @
— UMC_-)\ c,ab\) S

-W&MM ©
( / o u >4 \

C o / ) ) / - @
¥ C W .
. e o o ;
B) Translate into Arabic and four of the following sentences : [8]

i)  The boy is bright.

i) He took him to the school.

i)  She is busy in her office.

iv)  On the Window there is a curtain.
v)  This School is new and good.
vi) The new teacher is a tall man.

vii) Is your school closed.

[5415]-1028 4



04) Explain with examples any Two of the following Topics : [16]

j )J)

_..Qf)\(;zgiﬁ‘) - s[,e}
("/:’\ /;%gs\@__;wus ,»\N)\ @

05) A) Summarise any Two of the following Lessons :- [8]

s ) )\_) (S['\(/—\‘\ ®
. ’V\ ’-é))\; 325 ®@

L £ 9 - >
S—— §=4

B) Write in Arabic any one of the following :- [4]
/ 2 % “&
LU g 50 \
R (,:eﬁ J—é“') ®
C) Write a letter in Arabic to the Bank Manager. [4]

ForPoo e

[5415]-1028 5



Total No. of Questions : 5] SEAT No. :

P663 [Total No. of Pages : 4
[5415]-1029
F.Y. B.Com.
FOUNDATION COURSE (Restructuring)
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) What are the causes of rapid growth of population in India? Suggest measures
to control the increasing population. [16]

02) What is Economic Inequality? What are the causes of Economic Inequality in
India? [16]

OR

What is Culture? State and explain the characteristics of Indian Culture. [16]

03) a) What is the importance of Religion in Indian Society. [8]
b) What is the importance of Agriculture in Indian Economy? [8]
OR
a)  Whatis the role of Planning Commission? [8]
b) What is the importance of Time management? [8]
04) Explain the concept of Liberty, Equality and Fraternity. [16]
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05) Write note on any Two of the following. [16]
a) Importance of Goal Setting.
b) Concept of Rule of Law.
c) Process of Decision Making.

d) Religious values.
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P663 [5415]-1029
F.Y. B.Com.
TN SASATGRA (TRA)
(2013 Pattern)
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Total No. of Questions : 4] SEAT No. :

P664 [Total No. of Pages : 2

[5415]-1030
F.Y. B.Com. (Vocational)
COMPUTERAPPLICATION COURSE - 1
(2013 Pattern)

Time : 2 Hours] [Max. Marks : 40
Instructions to the candidates:

1) Draw a neat - labeled diagram wherever necessary.

2)  Figures to the right indicate full marks.

Q1) Answer the following : (Any Five) [10]
a) Computer
b) Octal
c) Unicode
d) Multimedia
e) RAM
f)  Taskbar
g) DTP
02) Answer the following : (Any Two) [10]
a) Explain following devices.
i) DVD i) Magnetic tape

b) What is operating system?

c)  Write steps to use search engine effectively.

03) Solve the following : [15]
a) Convert from Decimal to Binary
(5 5 )10 = ( )2

b) Convert from Binary to Hexadecimal
(110111),= (),

P.T.O.



c) Convert from Binary to Octal
(111000111),= (),

d) Binary Addition
111000+101010="

e) Convert from Binary to Decimal
(1100010),= (),,

04) Answer the following : [5]
Explain steps to use Mail merge in Ms-Word.
OR
What is LAN, WAN and MAN?

Forioolem
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Total No. of Questions : 3] SEAT No. :

P665

[Total No. of Pages : 1

[5415]-1031
F.Y. B.Com. (Vocational)

ADVERTISING, SALES PROMOTION & SALES MANAGEMENT

Time : 2 Hours]

Marketing Communication (Paper - I)

Instructions to the candidates:
1)  All questions are compulsory.

2)

Figures to the right indicate full marks.

Q1) Explain the role and significance of communication in marketing.

OR

Distinguish between oral and written form of communication.

02) What is Public Relations? Discuss the tools used in Public relations.

OR

What is Event Management? Discuss the types of events.

Q3) Write Short Notes (Any Two)

a)
b)
c)
d)

Sales Promotion.
You Attitude
Role of press conference

Online Marketing

coPCrPir
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Total No. of Questions : 4] SEAT No. :

P889 [Total No. of Pages : 2
[S415]-1032
F.Y.B.Com.
INDIAN TAX SYSTEM & INCOME TAX

Tax Procedure and Practices (Vocational)

(2013 Pattern) (Paper - I)

Time : 2 Hours] [Max. Marks :40
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to right indicate full marks.

Q1) Answer in 20 words each (any five) : [10]
a) Who is called ‘Assessee’ under I.T. Act?
b) What are the heads of Incomes?
c) Enumerate any four Indirect Taxes.
d) What is Art 265 of Indian constitution?
e) What is mean by Indirect Tax?
f)  What is meaning of ‘Previous Year’?
g) What are the long forms of DCBDT & CBEC?

02) Answer in 50 words each (any two) : [8]
a) What are the advantages of ‘Direct Taxes’?
b) What is mean by ‘Income’ U/S 2 (24)?
c) How to determine ‘Residential Status of company?
d) What are the provisions of Art-246 of Indian Constitution?

03) Answer in 150 words each (any two) : [10]
a) What are the ‘Canon of Taxation’?
b) Explain Art. 280 i.e. Finance Commission under Income Tax Act.
c) Enumerate exempted incomes U/S 10 of Income Tax Act.
d) What is ‘Consolidated Funds of India’? How it is constituted?

PT.O.



04) Answer in 500 words : [12]
a) What are the indirect taxes of State Govt.? Discuss in details.

OR

b) Mr. Anant an employee of XYZ Pvt. Ltd. at Pune furnished details of
incomes for year ended on 31.03.2018 as

i)  Basic salary R 55,000 p.m.
i1) Dearness Allowance R 25,000 p.m.
iii)) Sales Commission received X 8,000 p.m.

iv) Education allowance X 300 p.m. per child he has two children
v) Transport Allowance received X 1,200 p.m.

vi) Employer’s contribution to provident fund is @ 15% of basic
salary.

vii)) H.R.A. received X 15,000 p.m. He has to pay rent X 10,000 p.m.
viii) Tax on employment from salary X 2,500 per annum
compute his taxable income from salary.

O 0 0 O
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Total No. of Questions : 3] SEAT No. :

P666 [Total No. of Pages : 2
[5415]-1033
F.Y. B.Com. (Vocational Course)
COMPUTER APPLICATIONS (Paper - 1)
(2013 Pattern)
Time : 2 Hours] [Max. Marks : 40

Instructions to the candidates:
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.
Q1) Answer the following - (Any Four) [20]
a) Explain relational operators and assignment operators used in C language
with example.
b) Whatis an array? Explain need for array.
c) Explainthe following:
i)  Machine Language
i) Procedural Language
d) Explainif else statement with syntax and example.
e) Define:
i)  Identifier
i) Keyword
f)  Explain printf() and scanf() functions.
Q2) Write a program to solve following : (Any Two) [10]
a) Write a ‘C’ program to find maximum of two numbers.
b) Write a ‘C’ program to display multiplication table of any no.
c) Write a ‘C’ program to check whether the entered number is even or odd.

P.T.O.



03) Answer the following (Any Two)
a) Define:
i)  Algorithm

i) Flowchart

b) Explain for loop with syntax and example.

c) Whatis pointer? Explain.

PP ir
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Total No. of Questions : 3] SEAT No. :

P667 [Total No. of Pages : 1

[5415]-1034
F.Y. B.Com. (Vocational)
ADVERTISING, SALES PROMOTION AND SALES
MANAGEMENT (Paper -11)
Advertising

Time : 2 Hours] [Max. Marks : 40
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What do you mean by advertising? Explain the need and importance of
advertising [12]

OR

Explain in detail the factors affecting advertising budget.

Q2) What is Rural advertising? Discuss the difficulties in rural advertising and
suggestions to make rural advertising effective. [12]

OR

Discuss the different types of advertising with suitable examples.

03) Write Shorts Notes (Any Two) [16]
a) Role of women in advertising.
b) Elements of advertising layout.
c) Advantages of advertising to manufacturers.

d) Advertising Standard Council of India. (ASCI)
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Total No. of Questions : 4] SEAT No. :

P8S8S8 [Total No. of Pages : 2
[5415]-1035
F.Y.B.Com.
TAX PROCEDURE AND PRACTICES (VOCATIONAL)
State Sales tax and CST ACT. (Paper - II)
(2013 Pattern)

Time : 2 Hours] [Max. Marks : 40

Instructions to the candidate:
1)  All questions are compulsory.

2)  Figures to the right indicates full marks.

Q1) Answer in 20 words (Any Five) [10]
i)  What is mean by '"Tax Free Goods'?
i)  What is mean by rate of tax? Where it is provided under M.VAT Act.?
i) Explain the term 'Crossing Customs frontiers of India.
iv) What are the types of Registration under CST?
v)  Which sales are not taxable under CST?
vi) What is three shold limit of Turnover provided under M.VAT Act?
vil) What are the 'Advantages' of VAT?

02) Answer in 50 words (Any Two) [8]
a) What is mean by 'Sale' under M.VAT. Act?
b) What is mean by 'Tax Invoice'? What are it's containts?
c) Enumerate various Forms under C.S.T. Act.
d) What is provisions for 'Compulsory Registration' under C.S.T. Act?

03) Answer in 150 words (Any Two) [10]
i)  Enumerate Sale's tax Authorities under M.VAT act and C.S.T. act.
i)  What are the Advantages of Registration under M.VAT Act and C.S.T. Act?
i) What is mean by 'Declared Goods' under C.S.T. Act.

iv)  When Sale is said to take place in the course of inter-state trade and
Commerce?

v)  What is Constitutional Back-ground for enactment of C.S.T. Act?

PTO



04) Answer in 500 words (Any One) [12]
a) What is mean by Registration under C.S.T. Act? What is the procedure
for Registration?
b) Whatis mean by 'Return' under M.VAT? who? and When? has to submit
return under M.VAT. Act.

SERSGRR
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